DW714 - SERRA ESQUADRIA DE 10" (254mm) 1650W

(&)




DEWALY

DW714 - SERRA ESQUADRIA DE 10" (254mm) 1650W




DEWALT DW714 - SERRA ESQUADRIA DE 10" (254mm) 1650W

3/

38
37

190
151 44 133



(254mm) 1650W

DW?714 - SERRA ESQUADRIA DE 10"

DEWALT




DW714 - SERRA ESQUADRIA DE 10" (254mm) 1650W

el




DEWALT

DW714 - SERRA ESQUADRIA DE 10" (254mm) 1650W




Posicao Peca Referéncia Type Qtde
1 N478550 | PRAFUSOM6 X 12 Tipo 1 3
2 N478551 | ARRUELA ELASTICA Tipo 1 3
3 N478552 | ARRUELA Tipo 1 5
4 N478553 | PLACA DE ANGULO Tipo 1 1
6 N478480 | EXTENSAO Tipo 1 2
7 N478554 | BASE Tipo 1 1
8 N478583 | ARRUELA Tipo 1 6
9 N478584 | ARRUELA DE PRESSAO Tipo 1 1
10 N478557 | PARAFUSOMS X 25 Tipo 1 2
11 N478558 | PARAFUSO Tipo 1 3
12 N478559 | SUPORTE Tipo 1 1
14 N505880 | BARREIRA ESQUERDA Tipo 1 1
15 N478560 | CHAVE INGLESA Tipo 1 1
16 N478561 | SUPORTE DA CHAVE Tipo 1 1
17 N478562 | CHANFRO GUIA Tipo 1 1
19 N478564 | ALMOFADA Tipo 1 1
20 N478684 | SUPORTE GUIA Tipo 1 2
22 N478544 | ARRUELA Tipo 1 4
23 N478543 | ARRUELA DE PRESSAO Tipo 1 4
24 N478513 | PARAFUSO Tipo 1 4
25 N478686 | BARREIRA Tipo 1 1
26 N504612 | MANIVELA Tipo 1 1
27 N478548 | MOLA Tipo 1 1
28 N478541 | PINO Tipo 1 1
29 N478542 | ALAVANCA Tipo 1 1
30 N478470 | SUPORTE DE REGULA GEM Tipo 1 1
31 N478659 | MESA MECANICA Tipo 1 1
32 N478540 | SUPORTE Tipo 1 1
33 N478469 | SUPORTE Tipo 1 1
34 N478592 | PARAFUSOMS X 16 Tipo 1 4
35 N478670 | PARAFUSOM6X 16 Tipo 1 1
36 N478482 | PARAFUSO Tipo 1 1
37 N478502 | PARAFUSO Tipo 1 1
38 N478499 | ARRUELA Tipo 1 2
39 N478500 | LUVA Tipo 1 2
40 N478565 | PARAFUSOMS X 12 Tipo 1 1
41 N478566 | MANCAL Tipo 1 1
42 N478567 | CUBO DE RODA Tipo 1 1
43 N478501 | BARRA DE CONEXAO Tipo 1 1
44 N478568 | GUARDA DA LAMINA Tipo 1 1
46 N478507 | PARAFUSOM6X 10 Tipo 1 1
47 N478569 | MOLA Tipo 1 1




48 N478587 | PARAFUSO Tipo 1 1
49 N478588 | PINO MOLA Tipo 1 1
50 N478570 | PLACA Tipo 1 1
52 N478669 | EIXO Tipo 1 1
53 N478668 | PARAFUSO M10 X 70 Tipo 1 1
55 N478673 | SUPORTE Tipo 1 1
56 N478538 | ARRUELA Tipo 1 2
58 N478680 | BOTAOMO6X 12 Tipo 1 1
59 N478674 | PARAFUSO M6 X 12 Tipo 1 2
60 N478675 | PARAFUSO M6 X 20 Tipo 1 1
61 N478677 | PINO Tipo 1 1
62 N478678 | ANEL ORING Tipo 1 1
63 N478533 | EIXO Tipo 1 1
65 N478696 | ARRUELA DE PRESSAO Tipo 1 2
66 N478574 | ARRUELA Tipo 1 3
68 N478663 | INDICADOR Tipo 1 1
69 N478536 | ARRUELA ELASTICA Tipo 1 2
70 N501769 | PARAFUSO 5 X 55 Tipo 1 4
71 N478537 | PORCA M8 Tipo 1 1
72 N478546 | PLACA DE CORTE Tipo 1 1
73 N478547 | PARAFUSOM4 X 10 Tipo 1 4
74 N478509 | PARAFUSO DA LAMINA Tipo 1 1
75 N478510 | FLANGE EXTERNO Tipo 1 1
77 N478512 | FLANGE INTERNO Tipo 1 1
78 N478595 | PLACA DO ROLAMENTO Tipo 1 1
79 N478596 | EIXO DE SAIDA Tipo 1 1
82 N478573 | PARAFUSO M4 X 20 Tipo 1 1
83 N478506 | PINO TRAVA Tipo 1 1
84 N478589 | SUPORTE DA MOLA Tipo 1 1
85 N478590 | MOLA DE COMPRESSAO Tipo 1 1
86 N478575 | CONECTOR Tipo 1 1
91 N542206 | CONJ GUARDA SUPERIOR Tipo 1 1
92 N478614 | MOLA Tipo 1 1
93 N478616 | ANEL TRAVA Tipo 1 1
94 N478617 | PINO TRAVA Tipo 1 1
95 N478618 | TAMPA Tipo 1 1
99 N478620 | PINO TRAVA Tipo 1 1
101 N501740 | ROTOR 127V Tipo 1 1
103 N478623 | RETENTOR Tipo 1 1
104 N478624 | DEFLETOR Tipo 1 1
105 N478625 | PARAFUSO M5 X 70 Tipo 1 2
106 N501743 | ESTATOR 127V Tipo 1 1
107 N478627 | CAIXA DE CAMPO Tipo 1 1




108 N504537 | PORTA ESCOVA Tipo 1 2
109 N501744 | PAR ESCOVA CARVAO 127V Tipo 1 1
110 N478630 | TAMPA DO PORTA ESCOVA Tipo 1 2
111 N478632 | PARAFUSOMSX 10 Tipo 1 2
112 N478633 | COBERTURA TRASEIRA Tipo 1 1
113 N478634 | PARAFUSO Tipo 1 5
114 N478586 | PARAFUSO M5 X 10 Tipo 1 2
115 N478582 | PLACA Tipo 1 1
116 N478576 | LIMITADOR Tipo 1 1
117 N478577 | PARAFUSO Tipo 1 1
120 N478636 | EMPUNHADURA Tipo 1 1
121 N478637 | INTERRUPTOR 220V/127V Tipo 1 1
122 N478638 | COBERTURA EMPUNHADURA Tipo 1 1
123 N478635 | PARAFUSO Tipo 1 7
124 N478657 | PARAFUSO M4 X 30 Tipo 1 2
125 N478580 | EMPUNHADURA Tipo 1 1
126 N478578 | PARAFUSO M6 X 20 Tipo 1 1
127 393520-00 | CONECTOR Tipo 1 1
129 N478641 | PARAFUSOM4X 10 Tipo 1 2
133 N478681 | ADAPTADOR Tipo 1 1
134 N478689 | EIXO Tipo 1 1
135 N478690 | SUPORTE Tipo 1 1
136 N478691 | ANEL TRAVA Tipo 1 1
137 N478692 | PARAFUSO DA PRESILHA Tipo 1 1
138 N478694 | PRESILHA Tipo 1 1
139 N478698 | PLACA Tipo 1 1
144 N484398 | ETIQ ESPECIF. DW 714-BRTIPO1 Tipo 1 1
148 N501771 | PLUG 1
150 N501738 | RODA DA GUARDA Tipo 1 1
151 N501739 | DISCO DE FIXACAO Tipo 1 1
306 N478478 | CONJ SACO COLETOR Tipo 1 1




